ANNUAL EXAMINATION, MARCH 2022 - 2023

STD 9 - MATHEMATICS - ANSWER KEY

903

Qn

no.

Key

Score

OB 4 UOE@ISS B2193(6BRSI@B ago®mslee 3 ag)EROTIM DTHROAWITRHL:

1 _ 40 + 10 + 38 + 25 + 18 + 45 + 17 + 33 + 32
2OWfo =
10 1
2
By 1
10
2 |apad@me = 50 X 20 = 1000 ccim.oav.al. 2 2
3 | 3 38 2 | 2
10 ’ 100
4 |a) AC = V1* + 22 = /5 eau.on. 1
2
b) apgsal =1+2+ V5 =3+ V50a.00. 1
03@@3 10 nioe@8s ¢2193(6BrsEled agomslee 4 ag)eROMIM QO EOAWITRE:
5 2
3
1
6 1
1 3
PQ = SR = % = 7 oav.nl
1
b) cvomdmm@leso
7 |a) a(x) = x(x+2) = x" + 2x
2
b) a(5) =5+ 2X5 = 35 . 3
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8 a3 , -3 1
b) x=5 , x=-5 2
9 |a) 200 : 300 =2 :3 1
b) smoaemm misysloel £:351e:836s ageROIle @RAEIQOS @RS 1
@aalenss @rowdeniwe = 200 :30 = 20:3
REMIAODED MisRSIOLl £:,35168:816S ag)epRAIZe @RAIQZOS @RS8N0
oaileRss @rovoeniaqwe = 300 : 45 = 20:3
DD EENZ @PoUBENIMLEBRUB MRLYAIWDIMIMT B1S1S81OS nG)EROIZ0 1
@PEIWIES @RSNIJe @RMIAII@TIZILIOE . .
10 |a) 28 , 29, 30, 31, 32 OR vRIWIW AQ} MVoEUBUB 1
b) 5,15, 25, 35, 45, 55 OR wecdlmo@ agy mecals:ud 2
11 ayo@d 21 aioe@Ss @2193(6Brglad agemeslele 8 agemadilm 2omeeawyme:
11 | cavo@pes ailel @al X ag)(Mio HEMVE@OS Qilel YV ag)Mle a§)S]
OB
X + 4y = 7400 1
2x + 6y = 13600 1
x =5000 , y = 600 2
12 |a) @leso6moe LQM 608 al@ajgal = 48 a1.6av.01. 1
1 1
b) 2 X 16 X h = 48
h = B X2 6 oav.al. 1
16
AB ,CD ag)aml emoem3e-ud mmilenss @oeele =6+ 6=12oav.n. 1
13
4
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14

15

a) aeomomlend apgsal = 2 X 7 X 20 = 407 oav.ol.

10 @maiem H:068E38MIdU3 MUeIBleanm Bl = 10 X 407
= 4007 oav.n.
b) 10 maiem &:06833emMIdU3 Muemudlesym f3ee = 10 X 807

= 8007 oav.01.

16

a) aleaigal = X 10° = 1007 a1.00v.01.

b) aiomocte@mleng aleqsal = %X 100r = 257 a1.0a0.01.
17 |a) x=2+2=4 , x=2-2=0
18 |a) gaidl®elnieqsal = 6 X  quaaioReoBIeng aleqjsal
= 6 X 10° = 600 a1.00v. 0.
b) aioaime = alBaleqsal X 2@@.
= 10° X 10 = 1000 ocim . 6av. ofl.
= 1 eNQad
19 a) 8@} aldBUWIMmEl alRqjsal = % = 30 ar.00v.01.

b) arodwoj@mel aleqjsal = 4 X 30 = 120 a.eav.ol.

[ aoduojmyaueenud @a1dms) Nlsjo@d mye:-slerl 2omEIlo ,
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AlOBAEUEBRUS GalBMIY Moo aldBWRj@Eel aleqjsal = 6 X 30

= 180 ai.o0v.01.
ag)Myo &l530 |

) ald@woj®el aleqjaal = 6 X 30 = 180 ai.eamv.ol.

20 |a) aoai@oe = alBalGaEal X 9@Ee = & X 4° X 10 2

= 1607 ccim.oav.nl.

1 4
b) ap@l@ aiPaime = & X 2’ X 20 = 807 ceim. oav. .
RMIAGOMDIOMG QOIdo CRBIEOTNONNG ald:3@leoem 1
21 |a) alle@emo = 10v2 oau.on. 1
b) alle:demo = xy/2 oav.on. 1
) MA2IOGREOBIONG QIvdRe aile:@emaBileng Mgz @RMaIdGI®: 1 4
@o6m .
_ aoflé@emo x«/E 9
@RMald@I&:mudlee = 2 N ) V2 1

22 yova@d 29 qiee@pss 62193(6BrsSIed agomsslee 6 ageRarsila) 2o eeAVIERH:

22

dlairuenimmo | @220eilead aileon @RHOH> GAUMDMo
@6S @IWo
ag)eRe
450 — 550 . 450 + 550 _ 500 7 X 500 = 3500
2
550 — 650 8 550 + 650 _ 600 8 X 600 = 4800
2
650 — 750 10 650 + 750 _ 700 10 X 700 = 7000
750 — 850 10 750 + 850 _ 800 10 X 800 = 8000
2 3 5
850 — 950 9 850 + 950 _ 900 9 X 900 = 8100
2
950 — 1050 6 950+ 1050=1000 6 X 1000 = 6000
@ROH> 50 37400
2OWf = 375‘:)00 = 748 @31 2
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a) AQ: AS: AC=1:2:3
b) PQ: RS : BC=1:2:3
¢) BC =3 X 8 = 24 oav.nl.

d) @leso6mo APQ ailond auvssrges 3 aseanoen (@leo06moe ABC

@6S QUUDEBRUD .

@RMald@Ie:mudlee = 3
24 |a) ML QAYODIUDEBRSIOS alPaSORB®SIOS BRD = T X 2?
=47 al.oav.01.
{ G CTOTSIE N T

MIEI} QUDOHIUDEBRSIOS nlPa|SORSSIOS DR

=4><ﬂx:z>< 22 = 47 al.oav.00. }

360

b) euwantileenmm ron@mIOng aleqjsal
= aIOREOBION alea80l — MOILIR AIGINIUDEBRSIONS

aleqjsal
=24 — 47 ar.00v.01.

25

a) QAISOOHHNMDTIONG BH(MBEHH06M = 360° x % = 270°
b) auig®eeuem@wiland anaimlge = % X 2xX 4 = 6 oav.0l.
6
0210l USQOS @R = o = 3 oav.ol.
C) 6NIIBE) BaUMDTNONNG 210 IS0
= agsepes apQsal —  QISEOUMOBIONG 2ldalmilSo

=8 — 67 = 2meoav.nl.

@R/ = 2% = 1 soav.nl.

2r
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a) QR = Vv3* + 3* = V18 = 342 eau.on.

b) Sem aupailajleezmm aueeyy = 3v2

T e quzailajleamm aueay = 342
c) S, T agaml enilmeaud memilenss @os:elo = |—3\/_2 - 3«/5|
= |-642| = 62
S, T ag)am enillm3yeesies awienilasy = =372 + 372 =0

2

27

a)apgsal = 2z X 50 = 1007 eoav.ol.

300
b o = —— = 150 oav.nl.
) @R® o DIV

C) apgsal = 2xx
d) aiyomosleng @Rele 23RS @RMIAIIDIS:A06M .

2
@RYMIdDImudlee = ';" =27

28

a) 803 aReMIOng Qi@:®elnleqs80l = apapgsal X 9We.

=2ax 2 x5 = 2207
100 100

OREMISSIOS @ROS: Q(B:-DMelaleq|sal = 10 X % =157 a1.0.

@6 afleinl = 157 X 80= 15X 3.14X 80 = 3768 @1

29

a) RO ULND®BIOS af)efRe = 18
b) @es: mjaueenrges agepe = 12
C) UBN®BOS aGleRe = 3 X n

DMEISHSIOS af)§Re = 2 X n
d 2
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